
Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

Item Component Name Qty Part 
No.

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 W061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201

Issue: 03   
Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

Note: 
Kit is intended for use with 43159 Recovery 
Track Brackets.

1.

2.

3.

4.

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled


